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7 IIMEAN AT PP 21.5 m 819.3 819
SEER R AL kg 116.0 116
fhEdT—7 & 4 4
AN ) LAV NNEYS) m3 25. 1 25
A BE R STH A 1 11 11
P SS400, TEgp Ay, PL- ¢ 400X 28| 11 11
VAVUA RIS OVA & 145 145
ok VU ¢ 150 m 19.0 19
HIfLE (¢ 115) 2050 m 466. 1 466
HIfLE (¢ 115) L/} m 268. 4 268
B Y B W=4. 50m Z%m3 477.5 480
NIV VG 5-i'e [=] 3 3




£ SiHEE TT SHEE
BYHEE ME+ (EL) KR R L
A =1 BB OBE| W @ |FHWE & 2 | (|FHmE & £ | B & |THNE| % = || &
(m) @) () (m’)
2+ 10.600 3.1 0.9 0.4 1R
3 4+ 0.000 [ 9.500 1.3 221 210 0.9 0.9 8.6 0.4 | 0.40 3.8
3+ 8.400 | 8.400 0.8 1.05 8.8 0.1 0.50 4.2 0.0 0.2 1.7
3 4+ 8.100 1.8 0.9 0.50 0.0 0.3 o015 0.0
3+ 11.900 | 3.800 1.8 1.80 6.8 0.9 0.9 3.4 0.3 0.30 1.1
3+ 11.600 0.8 0.1] 0.50 0.0 0.0[ o015 0.0
4 4+ 0.000 | 8.400 1.4 1.10 9.2 0.9 0.50 4.2 0.4 0.2 1.7
4 + 5.900 | 5.900 1.4 1.40 8.3 0.9 0.9 5.3 0.4 | 0.40 2.4
2+ 10.100 5.7 0.9 0.4 DERE
3+ 0.000 | 9.900 44| 5.05[ 500 0.9 0.9 8.9 0.4 0.40 4.0
3+ 10.000 [10.000 3.4 3.90| 39.0 0.9 0.9 9.0 0.4 | 0.40 4.0
4 4+ 0.000 |10.609 3.5 3.45[ 36.6 1.1] 1.00] 10.6 0.4 0.40 4.2
4 + 10.000 |11.311 25| 3.00| 339 1.3 1.20] 13.6 0.4 0.40 4.5
5+ 0.000 |12.440 3.4 295| 367 1.4] 1.35] 16.8 0.4 0.40 5.0
5 4+ 10.000 [12.440 6.3 4.85| 60.3 0.2] 0.8 [ 100 0.0 0.20 2.5
5 + 16.980 | 8.683 6.3 | 6.30| 54.7 0.2 0.2 1.7 0.0 [ 0.00 0.0
g 3 365. 3 96.3 34.9




£ SiHEE TT SHEE
FE®EL (FER) BEYESEEL
el BB B W @ (|THNE K BN @ |THNE & B el BBl 2|
(m) @) () (m’)
2+ 16.000 | 2.800 0.5 1.4 1R
2+ 19.500 [ 2.800 0.5 1.4
3+ 3.000 | 2.800 0.5 1.4
3 4+ 6.500 [ 2.800 0.6 1.7
3+ 13.500 | 2.800 0.6 1.7
3 4+ 17.000 [ 2.800 0.5 1.4
4 4+ 0.500 | 2.800 0.5 1.4
4 + 4.000 | 2.800 0.5 1.4
3+ 10.000 [10.000 0.0 DERE
4 4+ 0.000 |10.609 0.1 0.05 0.5
4 + 10.000 |11.311 0.2 o015 1.7
5+ 0.000 |12.440 0.0 0.10 1.2
g & |66.760 11.8 3.4




ZEREL SHEE

% £ v = # £ i
BAREL
2% E #BEE No. 2 + 10.100 {ti& ~ No. 5 + 17.725 {ik 76.2 m
=1 76.2 m




FERETL SHEE ( mAEET

BRAW/I t=20cm

SZEMRI t=65cm

2 o/
) /
/
/
/
/
/
A
& =1 = L= T N
m Y
ERE v (1240.50%) xH t=20cm m2




% SitEE ZEREL SHES ( 2BtB #\AEIT ]
#ATE t=20cm
38 BB OB W O E (oSG % B W @ |THOFRE| % 2| W @ |TovE| & 2| B =
(m) (m) (m) (m?)
2+ 10.100 2.8 H=2. 504m|
3 0.000 | 9.900 2.8 2.80| 271.7 H=2 504m|
3 7.750 | 7.750 2.8 2.80| 21.7 H=2 504m|
3+ 10.000 | 2.250 3.0 2.90 6.5 H=2 644m|
3+ 11.007 | 1.005 3.1 3.05 3.1 H=2 754m|
3+ 11.225 | 0.225 0.0 1.55 0.3 H-0. 000n)
3+ 11.225 0.0 H=0. 000m|
3+ 11.442 | 0.225 3.1 1.55 0.3 H=2 762m|
3+ 14.750 | 3.530 28| 2.95| 10.4 H=2 504m|
3+ 18.103 | 3.535 2.8 2.80 9.9 H=2 504m|
3+ 18.166 | 0.070 0.0 1.40 0.1 H-0. 000n)
3+ 18.166 0.0 H=0. 000m|
3+ 18.229 | 0.070 2.8 | 1.40 0.1 H=2 504m|
4 0.000 [ 1.953 2.8 2.80 5.5 H=2 504m|
4 8.521 | 9.397 2.8 2.80| 26.3 H=2 504m|
4 8.630 | 0.125 0.0 1.40 0.2 H=0. 000n)
4 8. 630 0.0 H=0. 000m|
4 8.738 | 0.125 2.8 1.40 0.2 H=2 504m|
4+ 10.000 | 1.570 2.8 2.80 4.4 H=2 504m|
4+ 16.599 | 7.210 2.8 2.80| 20.2 H=2 504m|
5 0.000 | 5.230 31| 2.95| 15.4 H=2 814m|
5 3.599 | 4.477 3.1 310 13.9 H=2 814m|
5 + 10.000 | 7.963 3.0 3.05| 24.3 H=2 704m|
5+ 12.561 | 3.185 2.8 2.90 9.2 H=2 504m|
5+ 17.725 | 6.425 2.8 2.80| 18.0 H=2. 504n)
KigE/S4 T 0. 200m| BFFEE
20 |EATERE (ZERRRT  4.00 |m
8 &t [76.220 217.7




% BitE ZERT StEE
% £ iz = # £ B =
15ZERT
RIGITHC00T
Toh—BE
1% B 1-18~1-108 10 #
2858 2-15~2-85 8§ H
&Et 18 H
252 ERT
RIGITHC00T
Foh—8&S
2% H 2-9E~2-198 11 # KEHE () 10ERE
A5t 11 £




S BitHE ZERT SHEE ( 152 ERT ]
B OAl : HIFITHEC0oT
Foh—1I: ZEWREHAEITER
121 224
6‘50
/I~ /
é\o HEWI t=20cm
s __ FHIRE VU 125mm
2 N AN
avy)—+t
(0 ck=24N/mm2)
827
HyLarvysy—+
(o ck=18N/mm2)
& W =1 = B |/ FH|E
BT Y| N=18F
avy =k 0. 650 x 2. 800 x 2. 800 m3 5.096 91.73
(0 ck=24N/mm2)
P (BEFEEY) 0. 650 x 2. 800 x 2+2. 800 x 2. 800 m2 11. 48 206. 6
#X77 (SD345) I SZERTEHREEY D22=189. Okg kg 189.00 [ 3402.0
1EZERIEHRLY D13=114. Tkg kg 114.70 | 2064.6
BHLarvyy—=~ 0.827x0.100x 3. 000 m3 0.248 4. 46
EEE# (0. 827 x 2+3. 000) x 0. 100 m2 0.47 8.5
RBi5 (BEERES) 2.800 x 2. 800 $hm2 7.84 141.1
FEIRE (Vu g 150) 0. 650m m 0. 65 11.7
BEYtET
HEEEIF 0.83 x 3. 000 m2 2.49 44.8




% Stz ZEMTI GHEE ( 25 REMRT ]
& Al BRIBITEC00T
T Uh—I : KFEITEHRAMMEIE 8~10E)
121 224
S50
N /
HBREBEI t=20cm
8 — f
827
HLavyy—+
(o ck=18N/mm2)

% L = = B G|/ | E&
BRI Y| N=11E
avo)—+ 0. 650 x 2. 800 x 2. 800 m3 5.096 56. 06

(o ck=24N/mm2)
B (BHEED) 0. 650 x 2. 800 x 2+2. 800 x 2. 800 m2 11.48 | 126.28
k7 (SD345) 1ERERIEHRELY D22=189. Okg kg 189. 00 | 2079. 00
15ZERIEHRHEY D13=114. Tkg kg 114.70 | 1261.70
HLarvyy—+F 0. 827 x0. 100 x 3. 000 m3 0. 248 2.73
G M=ty g (0. 827 x 2+3. 000) x 0. 100 m2 0.47 5.2
Bi5 (BEERES) 2.800x 2. 800 #hm2 7.84 86. 24
FIRE Vug 150) 0. 650 % 1/cos10 m 0. 66 7.26
BEYLT

HEEE 0. 83 x3.000 m2 2.49 27.4




% Bitae FARLECOT SHHEE

% £ iz = # £ i3]

SREEEFECOT

RIGITHC00T

Foh—&S

28:B-AS 2-15, -85 2 H

2B-B& 2-95, 2-108, 2-11& 3 H

280B-C& 2-125, 2-135, 2-145, 2-155, 2-165, 2-175, 2-18% 7 H
&5t 12 £




£ BEHEE REEECT StEE [ SR ECoL ]
& Al BRIBITEC00T
2ERE-AS
948
ZEHMR t=65cm
(o ck=24N/mm2)
<
o
<
BREL
t=20cm
¥ & ECo
(o ck=18N/mm2)
% L = = B |/ 5| & E
FERTEY| N=2F
avyl)—Fk 1/2x%0.948 x 2. 504 x 2. 800 m3 3.323 6. 65
(o ck=18N/mm2)
B (EHEEY 0. 948 x 2. 504+2. 800 x 2. 800 m2 10. 21 20. 4
Ei5 (BEERES) 2.800 % 2. 800 #hm2 7.84 15.7




£ BEHEE REEECT StEE [ SR ECoL ]
B OR o J[EFT5ECoT
2E2B-B&
1417
ZERR t=65cm
(o ck=24N/mm2)
<
o
<
BERI
t=20cm
SHE L ECo
(o ck=18N/mm2)
% L = = B |/ 5| & E
BT Y| N=3E
avyl)—Fk 1/2x0.747 % 2.504 x 2. 800 m3 2.619 7. 86
(o ck=18N/mm2)
B (EHEEY 0. 747 x 2.504+2. 800 x 2. 800 m2 9.7 29.1
Ei5 (BEERES) 2.800 % 2. 800 $#pm2 7.84 23.5




£ BEHEE REEECT StEE [ SR ECoL ]
& Al BRIBITEC00T
2EB-C%
1396
ZIEhik t=65cm
(o ck=24N/mm2)
-
o
o
[aN]
t=20cm
SHELECo
(o ck=18N/mm2)
% L = = B |/ 5| & E
FRTEHY| N=TH
avyl)—Fk 1/2x1.396 x2.504 x 2. 800 m3 4.894 34.26
(o ck=18N/mm2)
B (EHEEY 1.396 x 2. 504+2. 800 x 2. 800 m2 11.34 79. 4
Bi5 (BEEERES) 2.800 % 2. 800 #hm2 7.84 54.9




7Uh—HEHE
I 7Yh—HH
(1) 5l (

2L
zW

T H— A

Q) HEfvxzy Y

N = 5 X 29

BT H—F 4RI

N= 29 f&

(4) gREAFT -7 V=)

N= 18 f#&

(5) LA A A—H—

N= 29 f&

(6) 1% = L

N= 29 f&

(7) 1EAKHHAG

N= 29 f{&

(8) Bhsfix v v 7

N= 29 f{&

) RN N 2 /7 N

790.3 m
790.3 m X

15. 2

M - BERHR+HEER+RE)

5. 505 kg/m = 4350. 6 kg
29 A
SCM415)
= 145 A
S45C)

SGP#E, SS40040 Y, High A » &%)

MR ) 2fly)

a7’ Vyath)

JERAVY)

TV A4, Jund bsath)

X

5

ZS



(9) EAERHAN - ( B Jxfly) EAEL IO 1HE

N= 7yh—A¥ Xn= 29 X 5 = 145 f{#
n= EHE + 1.Lb = 800 =+ 1.5 = 5
(10) et v v 7 ( MR ) xFLy)
N= 29 f{H
(11) 17KERAA ( BT =7+ ==h7=7")
N = 5 X 29 = 145 A (29 £ )

DA vvaay s 2A
N = EFEHA—P—FEX2+Tux v v 7%

N= 145 X 2 + 29 = 319 K

(13) =R T AfilE ekt
N= T7vh— 20 XKIZT1{H

N = 29 + 20 = 1.5 1hK

(14) 7" 79 MEAN A7 ( S 2o 21.5 )

L= EHEREE + EEERIEE + (REL2n+1.0m) X7/i-A%K

L= 52350 m + 232.00 m + 2.20m X 29 = 819.30 m
(15) BHESBS #5414 ( 1 &S 720 4.0 kg )
N= 4.0 kg X 29 T =  116.0 kg

(16) #ik—=  (55m/{#, f 0. Tm/ )

N

(H HEMHREER 2. om+ 1EFT) X0, Tm/ & FlF = 55m/{#
N= ( 52350 = 2.0m+ 1 ) XO0.7m/f&77~+55m/{#

= 4.0 &



an r77v e ( BACFN=ZF )

TE 25 Rl
Vi= x/4 X 0.115 > X 232.00 = 241 n
H B E
Vi = x/4 X 0.115 > X 523.50 = 5.44 n
v = Vi+ Vo= (241 + 544 ) X 3.2 = 25.12 n’

(18)  MEgEaE  ( STHE )

(19)  fHMIAR ( MBPEEFAREEE  SS400, HEAA v ¥ )
PL- ¢ 400 X 28
N= 11 1A
(20) 75 v MBjIER ¥ » 7

N= TUh—A&¥ X5 = 29 X 5 = 145 f{#

2. TUoh—HI#E
(1) HIFLE ( ¢ 115 )

+ W XL = 466.1 m

o & XL = 268.4 m
(2) R%BT B =4, 50m
V= 477.5 Zm3  (UAMEEFHEE LV 5

B) A=V v = Bk

N= 3 [q



7 vh—k. HIALREHE

Ta- | _HIFLE ¢ 115 7 h—5
Fe | W (/= HHE e R & E & i
1-1 15.14 9.17 17.00 8.00 1.20 26. 20
1-2 16. 69 9.12 18. 50 8. 00 1.20 27.70
1-3 17.22 9.09 19. 00 8.00 1.20 28. 20
1-4 17.59 9.22 19. 50 8. 00 1.20 28. 70
1-5 17.98 9.33 20. 00 8.00 1.20 29. 20
1-6 16. 74 9.07 18. 50 8. 00 1.20 27.70
1-7 15.75 9.06 17.50 8.00 1.20 26.70
1-8 14.19 9.12 16. 00 8. 00 1.20 25. 20
1-9 12. 68 9.13 14.50 8.00 1.20 23.70
1-10 15. 85 9. 46 18.00 8. 00 1.20 27.20
2-1 15. 41 9. 40 17.50 8. 00 1.20 26. 70
2-2 15. 39 9.42 17.50 8.00 1.20 26.70
2-3 15. 37 9.44 17.50 8. 00 1.20 26. 70
2-4 15. 46 9.35 17.50 8.00 1.20 26.70
2-5 15. 60 9. 21 17.50 8. 00 1.20 26. 70
2-6 15.74 9.07 17.50 8.00 1.20 26.70
2-7 16. 33 9.48 18. 50 8. 00 1.20 27.70
2-8 16. 92 9.39 19. 00 8.00 1.20 28. 20
2-9 17.72 9.50 20. 00 8. 00 1.20 29. 20
2-10 17.35 9. 37 19. 50 8.00 1.20 28.70
2-11 16. 98 9.24 19. 00 8. 00 1.20 28. 20
2-12 17. 46 9.26 19. 50 8.00 1.20 28.70
2-13 17.34 9.38 19. 50 8.00 1.20 28.70
2-14 17. 21 9.01 19. 00 8.00 1.20 28. 20
2-15 16. 88 9.34 19. 00 8.00 1.20 28. 20
2-16 16. 04 9.18 18. 00 8.00 1.20 27.20
2-17 15. 21 9.01 17.00 8.00 1.20 26. 20
2-18 14. 37 9.35 16. 50 8.00 1.20 25.70
2-19 13.53 9.19 15.50 8.00 1.20 24.70
E 466. 14 268. 36 523. 50 232.00 34. 80 790. 30

F) REE. 7U5-ERAB (L=1000mm) & 5 &AL imER (L=200mm) DEFHETH 5.




% SitEE TUoh—I FtEE
7 > h—R25 W=4.50m
A = BB OB B |FHNE K E| B @ |TFHONE = | |FHEE = | #
(m) (m?) (m?) (Zzm’)

2+ 11.000 2.0 1EF®E
3 4+ 0.000 | 9.000 3.1 ] 2.55[ 23.0
3 4+ 10.000 |10.000 49| 400| 400
4 4+ 0.000 |10.000 25| 3.70 [ 37.0
4 + 5500 | 5.500 25| 250 [ 138
3 4+ 8.500 1

+ 11.500 | 3.000 2.1] 2.10 6.3
2+ 10.500 4.4 ST
3 4+ 0.000 | 9.500 44| 440 | 418
3+ 10.000 |10.000 4.4 440 | 440
4 4+ 0.000 |10.609 44| 440 | 46.7
4 4+ 10.000 |11.311 45| 4.45( 503
5 4+ 0.000 |12.440 52| 4.8 [ 603
5 4+ 10.000 |12.440 57| 5.45[ 67.8
5 + 16.552 | 8.151 57| 570 [ 46.5

477.5




DL=405. 00

_N0.2+10
428,477
P

V437,40

H—RISIRHL

DL=405. 00

$=1:200

Ly,

& o

4500

V454,46

2% W %]

] =1 5n 20

[ =4 50n )
i 4500 7
8 =4 50n 68

v

W
&,
& ¢,
0
N Jrun—tam =66

2% W8 W E

) W4 5on 4

o o8 =4_50n o
TEATRET Oy 4500 4
o8 =4 50n 5

NO. 2+10
e T T
BRES | RABTSYBLES
IHWF | SHHULMITER BIHE)
H@Es T v h—RIBRE (5)
#® R $=1:200 ‘ HEHS * /[ -
st
BREL | EEREBLARRBRLEMS (5]




DL=405. 00

7

~

~

H—RISIRHL

(6) $=1:200

v437.70

DL=405. 00

v

’4500‘
(18 8) §
i/

V458.00

E R VLT B E
8 W=4_50m 31 =

o 28 W=4.50n X

TUh-RE 3B W=4. 50m 77

48 W=4_50n X}

&
273 «
00y

N Jrun—tan =266

NO. 3
Taa |M0EEENIESE wraum
BRES | RABTSYBLES
IHWF | SHHULMITER BIHE)
H@Es T v h—RIBRE (6)
#® R $=1:200 ‘ HEHS * /[ -
st
BREL | EEREBLARRBRLEMS (5]
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$=1:200
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DL=405. 00
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[ =4 50n ]
i 4500 50
15 =4 50n Ix]
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~
~
N
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ey
X
<

S
N Jrun—wf az26.6

4.9

NO. 3+10
e T T
BRES | RABTSYBLES
IHWF | SHHULMITER BIHE)
H@Es T o h—RBRBE ()
#® R $=1:200 ‘ HEHS * /[ -
st
BREL | EEREBLARRBRLEMS (5]




DL=405. 00

7 o h—RIFRIE (8)

DL=405. 00

$=1:200

Toh—RE

&% - MR - 85
18

28

38

AR
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=|o|a|e|

>
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zHa |M05E ?wﬁ;;; BT Y BEEE ()
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st
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7 v h—RIGIRHL
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$=1:200
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Toh—RE
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28

38
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[ W 500 52

i 4500 53
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